7o 10 Frie F opgelf orgt e-gRas & #% #H FrT siloqHodio T VA% % FH% § T #V & A dflo o dRo
T % 7 FeT-gRaw @ #F F7 & a 3% oreers & daT aWe JeT-gRawT T

Level : 3 Exam. - 2022
PGT : For Lecturer ENGLISH
Sub. Code No. : 902 e-GREH HHH T NoTHoARo HHi®

Question-Booklet Serial No. & O. M. R. Serial No.

s (%) ] [SET:&

Roll No. (In Figures)
RIS (9= F) ¢
Roll No. (In Words)
qhE & B AW

Name of Examination Centre

e AW Il B TERER ¢

Name of Candidate Signature of Candidate

39 we-QRaw 7 gt A den 32 | 9 @ Hem 150 g 21, hours

No. of Pages in this Question Booklet No. of Questions Time

friiss & SWER (Signature of Invigilator) :

et & 10 fre 1 g ge-GRae W 89 R 1 0o qo SR T § o ReRer A & e Rar sem af ge-gRaw 9 SR o H
F HEA T Sk B @1 T w ot 8 Maed e IeT-JRaw Sad ol 36 U9ER Bl o ©eR e B siem 39 10 Bl &
e, Sefl % SR b H B U T 2% €S B qEA RA omem IR R o A - A R M AR Asm A MM PR W A
WE & A D R sraiE B ol aig & SR Sae 3 & R oEet Rar som or: et FeiRa o & /M 59 @ ¥ S
ofaeT 9IS FEid ¥ T AT T ¢l §9 SEE & 9%, 36 ey § 09 Sfeed W B8 R T8 R smem

IR Rt u & R 9 ofih wem & R & @ ol wrem @ u S A Sem

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

TRt % fe e INSTRUCTIONS FOR THE CANDIDATES

1. AR, IN T 30 UT-JRH_ & X T@ 8 & 1. The OMR Answer Sheet is inside this Question Booklet.
TR HQ;T-W T & A ST TH TR HT When you are directed to read the Question Booklet, take
o q A FT Eﬁ?ff TR gfr @fwi;é'{‘# T out the OMR Answer Sheet and fill in the particulars

carefully with black ball point pen only.

2. g & Gil'c@[ 2% e ¥ ud rr-‘e:r—gmzsr F 150 uys & 2. The test is of two-and-half hours duration and consists
aﬁ% TS S el 2 of 150 questions. There is no negative marking.

3. I fqaRer offtd XA U9 SR T W MM @M & fe 3. Use Black Ball Point Pen only for writing particulars
A PN S GES 8 H TAT B TG qg:[_m H on this page/darkening responses in the Answer Sheet.

ST : % The candidate should remain careful in handling the
F T TN N AT A A T question paper and in darkening the responses on the

answer sheet.
4. 49 10 e H, 78 o e & A 6 ge- %A 4. Within first 10 minutes, also ensure that your Question
AR T G516 FHI% TH ol & N I8 e aqr ot Booklet Serial No. and Answer Sheet Serial No. are the
{Hﬁ qg;r_m AR T =% o B R W o same. In case of discrepancy, the candidate should

immediately report the matter to the Invigilator for
EENREECIN replacement of both the Question Booklet and the
Answer Sheet.

5. Jq@-3 (ST B fo) 5. Level-3 (For Lecturer)
-1 : 99 faee g Rrem aret (So 18 Jo 30) Part-I : Child Development
I : S (0 31 A %o 60) . i“d Pedagogy Q. :141t° Q- 3:2)
(Rt : 15 uew g ook ¢ 15 5w) art-Il : Language :  (Q.31100.60)
(Hindi: 15 Q. & English: 15 Q.)
-1 R S (o 61 & %o 90) .
3 R ; Part-IIl : General Studies : (Q.61to Q.90)
W< ‘ 9 T :\31%;[;;, 10 qﬁ) F105%, (Quantitative Aptitude : 10 Q, Reasoning
) I ’ Ability : 10 Q, G. K. & Awareness : 10 Q)
WE-IV ] (sfo 91 & o 150) Part-IV: English (Q. 91 to Q. 150)

e : T 39 PR 3 o< § Re T Ay PN A @) (Please read other remaining instructions given on the last page of this booklet.)



% %4 & T (FOR ROUGH WORK)




AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[

|

Th JHT s qe, S gesl
& HISAE WY HA: Sal & qdT T9G
I AT BT & ¢

[1] smisseh aderT

[2] stierT adierer

[3] T qieror

[4] FoaRs adierer

e NG e B N e | I E G
fafer e wX A fenliE & 8ie
e, Al fawE & A ' R

TR T & e = Je) @
gEq & TiafafeEt & SUEeT e ©

[1] Sg-Hadl e
[2] & forerer

[3] HEdrl SARRH
[4] AR AR

BR & A aeee, ke
M & g IUH F G B 7

[1] ST SarH

[2] T SUFMH

(3] 9 FafT S
[4] ANl SURH

Level-3/902

g

o

1.

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in

which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching
[3] Co-operative learning

[4] Programmed learning

of
to which

Spranger's classification

personality is related

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach



[A]

4. f=fifeg & @ a9-o felRE &
I NS WA B T T8 8 7

[1] I g § &
[2] Sfiae | S
[3] SO ereedt T WAl & &

[4] Sraited Fdred | qa

ST Ueh fRIR AU AIT-{UaT 9T i
Rem & oemd &ar 5, @ 98 o
BT AT Bl AR W ThT HT adl o’
7€ fhd TH &l THSH I & Th
JETEXT & ?

[1] &7 [2] SiRT

[3] w&wr [4] fowemas

e & geieas fabrE Risid &
APER, ‘GEHHh G H B
T 31, SN Rl HEIS FaRR
% R § WeE #dl o), deand
R

[1] &es yafedl  [2] Ja@ Sgh
[3] T [4] &TE©
‘TR g @ AR &R | G %
qy % B B ogEd b &Y A
oRefie fRar S Ebar & - A R
ded, 3 [ER 9 udhipd &, 39
e 9K 38y w1
HTo® el I8 qRA fohee A
g7

[1] SFR- Mo

[2] 79X Td dieX il

3] $eX ©d AEHA

EARISERGE]

|

|®

[~

Level-3/902

[4]

4. Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and
limitations

[4] Free from undesirable worries

'When an adolescent is unable to

g

show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive

|®

Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes
[3] Schema

[2] Basic Instincts
[4] Conservation

"Emotional

[~

Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of
[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson



[5] [A]

8. F=fofed & 9 f9-90 AT HIGT 8. Which one of the following is not a
B T gy 9y F8F R ? direct method for measurement of
(1] @R (2] SAT E[‘f]i“;df . 2] Project
> nterview rojection
[3] st 4] [3] Questionnaire [4] Observation
9. TH Eh% B UMl B U AT ST Gehdl 9. 'A horse can be brought near water,
g, forg U & o s W fpem S but cannot be forced to drink." This
qadll’ I8 YA ‘ﬁﬁ@%‘cﬁ ® 9ed & statement reveals the truth of
P oM %I T T BT © 7 Thorndike's which law of learning ?
[1] e &l =M [1] Law of Readiness
[2] =9 &1 [2] Law of Exercise
[3] 99 & | [3] Law of Effect
[4] sEdfcishar & fEm [4] Law of Multi Responses
10. kg & 9 HIFA-AT QT J; '] 10. Which of the following is not a level
TEE 7 of teaching ?
[1] STET &} [1] Basic Level
[2] Hfq &) [2] Memory Level
[3] M@y &R [3] Understanding Level
[4] i &) [4] Reflective Level
11. =ffed & 9 HF-AI TGS & 11. Which one of the following is not a
it o Rrsid & @ 7R ? part of Bronfenbrenner's Ecological
System theory ?
[1] w3kl foeeq [1] Micro system
[2] Bt foreem [2] Macro system
[3] A=Y e [3] Minor system
[4] 9ar faeed [4] Meso system
12. G TG qd El?{i%f ® g ¥ -4 12. Which pair is not correct with reference
W GEl 7e g7 to emotions and basic instincts ?
o T TR Emotion Basic Instinct
[1] g - ﬁ@_ﬁf [1] Anger — Repulsion
[2] SAEHR - T [2] Ownership — Collection
[3] sng=d —  foEm [3] Wonder —  Curiosity
[4] 9T - @ [4] Fear —  Escape

Level-3/902 P.T.O.



[A]

ERI USRS Ll SN CE I TG M|
BIF-81 TH Fis UG © 7

[1] QiR W ==

[2] G qedl W Fee SieEi
[3] EHfeeh Tl 1 AR

[4] @mfoTs Hedgh T gares

I & EEEdl R e @

APEAR, ‘AN H AR [
U Pl AR & 7

[1] R

[2] @IS

[3] Sifs®

[4] €A

frfafeg & @ #9-@1 S
Agal B YOG qOEeT § gefd
& 7 ?

[1] STEER SN dadt H
[2]3:?%#%3%%11‘4@?%@&%

[3] IAE guR G4 Hd

[4] 981 T ST el deidt P

freifofeg & @ ®F-T1 Fu99 Jgas
fafrTarelt & ded & 9@ 7&f e ?

[1] ®F & & = gl & F T8
B T

[2] Yo e errr-or &=t
O GeEfd & gl 2

[3] Jafrs fafran faem & fafe
MM N g B

[4] Fafms el &aw
SAERTET & HROT IA BRil B

Level-3/902

[6]

Which way is the most appropriate
for social development of
adolescents ?

[1] Discussion on socialization
[2] Essay competition on social values
[3] Organizing group activities
[4] Documentary on social relations

According to Maslow's Need
Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] Emotional

Which of the following task is not

related to Bager Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

[4] Ask and guess related task

improvement related

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.



17.

il FEFAT N AT Ay &
ST B He S o 7

[1] STqqre [2] gsad
3] FTa [4] STESi®

W Heet & e g o§ od
PIFT-H1 G A< HA &G @& © 7

[1] gT iR fore

[2] SieT R g

[3] G AR T

[4] S AR e

Presig sl & AgeR, e |
q B9 Y& H TH TER TeT S ¢

[1] oo [2] g
[3] @it [4] =R
Pleae & HEATaR, 98 & &)
1 At B, 99 Afvear § @-wiegd
Ao fosia |ffaT &t ST & 7

[1] gE-®ieT™

[2] e

[3] SOR-EIET™

[4] 9 & Bi5 T

21. FHfefad § @ -9 fearmEen &

UE | QA 7ef R 7

[1] J& GfETeT &t oTaeer &

[2] IE STATEIBAST I ST Tl
[3] IE TEAN I @S # 999 &l
[4] 98 ATRA H B 2

Level-3/902

[Z]

9. According

[A]

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type

of intelligence ?
[1] Analytical
[3] Theoretical

[2] Creative
[4] Practical

According to Kohlberg's theory,
what level of morality is it, when
includes

morality self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional
[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.

P.T.O.



[A]

22.

Al ABAT B TR ey
weer fees & faeta e
™7

[1] N & 9F =

[2] S

3] emgelss

[4] e wd ded

23. 99 % MiEd @ ¥ yfaseae &

& 8 AR ® JHEAH SeH
for Smar 2, @ g8 fRE oy @
g STEEA © 7

[1] fHig= st
PARECRERINRERRIG

[3] FiYEa ofav

[4] uRgcwelid Sfaaa

et &+ faem  Rsagar,
ERIRCES

[1] Sfces arafasmar @ orawen
[2] 391G @l Afewar i rEen
[3] T Wb @i STae
[4] @R A # T

25. MHeRad § @ SF-91 dE ST

P THRETH & G TG Bl & 7
[1] FEN fawresyg
[2] GRYEAT i A
[3] SARRET & HH

[4] GerTeTs Hiagfe

Level-3/902

[8]

22.

25.

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



26.

N
]

RUES RS I B -G U I R
FAT 5l T8 T SR ©

[1] StfaRe STRERT &

[2] S SARERET &

[3] SoT STFEREm &

[4] T @ B T

2. UH 15 a9 & g H gfE qled

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110
uF e & w9 § o9 foEnRiar &

SRR e N B CCot BTSN |
Frefatad & @ He-a1 F- 78f ST 7

[1] Asar B e

[2] 9T & G B

[3] ufcifsran @t e
[4] FTErl RidT 1 aiEr

29. @ S ‘&= @ R # o el &,

FHEAT © :

[1] Rdlees @ied

[2] MirEEieed

[3] afia

[4] g™

@ T I 5 TR H ARERE ©

[2] et
[4] QIS

[1] s=a
[3] SO

[91]

[A]
Rohit helps others to get praise. This
is an example of :
[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

What will be the
quotient of a 15 year old boy, when

intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/902
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[10]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

gﬁﬂ'{ :
[1] T - TS, deTEe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] &Il - MR, IR, MU

32. 9 feq § foame 999 ™ &1 5T

g 7

[1] &5 U M &d S =1ie
[2] A dfT gERY, St @ QR

[3] &9 8 &1 FB TEI e bl
[4] ST I, T & AR

33. ‘UMl gU-9 Il B dEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTe
[2] dfqars
[3] GRRHEES

[4] TS

Level-3/902

34.

qugd s =l & oo e &
3ftc § 7 9F R ¢

[1] €8 - 38 dfed; T8 - d4e
(2] g - T; AT - A
(3] G - Feb; Gl - goaarg
[4] @S - &g; Sao1 -

5. S [ @d d@ R @ A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] HYeEares qs1

[2] STicErEes de

[3] WEaE® HEl

[4] HieTarereh Hel

36. FTH { BHI-G1 A FYH & ?

[1] TR FEER qE9 3
2] & & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= ¥ % ¥ oY SUTN @

ST BT B 7
[1] STy [2] v
[3] STgeH [4] =ty



38. HUWE &l gie § oG faehed YT ¢

[1] FThaaT -  HHERA
[2] QfERE - @Yo
RIEIE - I
[4] 3T%s - e
39. [ foshcy d foerl @ &1 sEnT gan
g7
[1] FfafsY
2] Tags
[3] TR9RsT
[4] fFegX

40. =R A UILHH B ghe § ‘o@T
g% 3T 9 e 9 & e AT 7

[1] &
[2] 9
[3] <X
[4] =ffeb
41. foone @ gie ¥ o7@7T [T T
[1] S - A
2] 9@ - StHE
[3] & - g
[4] @1 - TSET

[11]

[A]

42. =H § &9 9= ¥ ‘omET g9 @

SR e g § 7
[1] TRiee [2] HelEe
[3] gTEe [4] TXEE

43. TR & e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44. Y 9= § M @A B

[1] st
[2] ggafe
[3] ugEn
[4] 9T
45. ‘TEH-TEHT H T W FFGIT [
g :
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/902



Which of the following options
express thecorrect meaning of the
sentence given below ?

He is too cute to overlook.

[1] He is too cute and he can beg
overlooked.

[2] He is too cute but he can be
overlooked.

[3] He is so cute that he cannot bed
overlooked.

[4] Although he is not cute, but he
cannot be overlooked.

Change the narration :

Kavin said to Mr. Cowper, "Please,

be kind to me."

[1] Kavin requested Mr. Cowper to
be kind to him.

[2] Kavin requested Mr. Cowper to
be kind to me.

[3] Kavin asked Mr. Cowper to be
please kind to me.

[4] Kavin asked Mr. Cowper that he
must be kind to him.

Fill in the blank with thecorrect
form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing
[3] washed

h

[4] wash

— The word 'garrulous' means :

[1] talkative
[3] violent

[2] abusive
[4] abundant

Arrange the following jumbled
options in the correct order and then
choose theorrectoption :

() too many (i) spoil

(iii) the broth (iv) cooks

[1] (), (iv), (i), (ii)

[21 (i), (iv), (i), (iii)

[3] (iii), (iv), (ii), (0)

[4] (iv), (i), (i), (iii)

Fill in the blank with thecorrect
option :

Let us stay here, whileiit ........... :
[1] is raining

[2] was raining

[3] has been raining

[4] had been raining

Choose the part of the sentence that
is grammaticallyncorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



Choose the part of the sentence that

is grammaticallyncorrect :
He has committed / a blunder /
mistake / today morning.
[1] He has committed
[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with thecorrect
form of verb :

Neither you nor she ............. made
the mistake.

[1] have [2] has

[3] had [4] did

Fill in the blank withcorrect 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)
[1] should [2] can
[3] need [4] must

Choose thecorrect passive of the
given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?

[2] Was a lion killed by you ?

[3] Was a lion killed by him ?

[4] Had a lion been killed by you ?

_ Fill in the blank with thecorrect

option :

Mr. Sudhir Soni is ........... R. A. S.
Officer.

[1] an 2] a

[3] the [4]

Fill in the blank with thecorrect
option that completes the idiom :
A rolling stone .......... :

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

Fill in the blank with thecorrect
option :

When Monisha reached the bus
stand, the bus ............

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for
2 O'clock in the morning.

[2] Mr. Mehta has been waking
since 2 O'clock in the morning.

[3] Mr. Mehta has been waked since
2 O'clock in the morning.

[4] Mr. Mehta has been waking
from 2 O'clock in the morning.




b # $%n$&

1" #$ % & #" (1) *

(s + X Y : (¢ X and Y are facing each other at
+% - %. )/001% -19%2: sunrise. The shadow of Y is falling
X - % !145%0- 0y )/0 towards right of X, then Y is facing

016 in which direction ?
[1] #$ % [1] North
2] 7 [2] South
[3] '+ [3] East
[4] ° [4] West
- " +%- % - ($ A boat covers a certain distance
38 9 ‘& 14589 downstream in 3 hours, while it
% - 01* % -' 3 - comes back in 4.5 hours. If the speed
" 89 01 of the stream be 3 kmph, then the
" 01 speed of the boat in still water is :
110 -89 [1] 10 kmph
2112 -1"89 [2] 12 kmph
3113 -!1"8 9 [3] 13 kmph
415 -1"8 9 [4] 15 kmph
105 - ) ($ A metallic sphere of radius 10.5 cm
8 %35 - ; 3 - is melted and then recast into small
</'3 329 ) = cones each of radius 3.5 cm and
01 )% 3!"%& ) height 3 cm, then the number of
-0 -6 cones thus formed is :
[1] 112 [2] 126 [1] 112 [2] 126
[3] 132 [4] 138 [3] 132 [4] 138
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3 % >
% 19%3 >

:45%§ ) 0
> %01
[1] 16%%

2] 33%%

[3] 33%
[4] 50%

1865 660
01 1%5 0 -&
120 CD

& 01

& 016

[1] 220
[2] 440
[3] 120
[4] 1085

- - 20% -

% "0 800 E!

b %- 01
-016

[2] 14E!
[4] 16 E!

+ -
[1] 12 E!
[3] 15E!

: 12 ).
) 01 #
01
[1] 2726

[3] 2796

?@AB
@A L

" &
01 1%

-0
125 "

>, 5

> 360 )

[2] 2736
[4] 2826

(s

(6

If the amount issg times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

[1] 16%%
[2] 33%%

[3] 33%
[4] 50%

Out of 1865 people, 660 can speak
English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?

[1] 220

[2] 440

[3] 120

[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg

more for Rs. 800. The original price of
rice perkgis:

[1] Rs. 12
[3] Rs. 15

[2] Rs. 14
[4] Rs. 16

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736
[3] 2796 [4] 2826
$ $1$
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Z1A, X2D, V6G, T21J, R88M, P445P, ?

[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

- 5’
% 1% 7?7 2,
01*
[1] 602
[3] 572

"'40 >

"USBQFMDJ"

"FOFHFUBS"
+9 >

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF
- P’ Q
% O01* R
Q, P

RG %

. Q
))- 7 01

9, 13

6 10 > &
- & 2 9-

01
[2] 592
[4] 582

"PARTICLE"
"GENERATE"
01 3-

"DOCUMENT"

)) -

PG% 91 %

6
[1] 228 9
[2] 258 9
[3] 308 9
[4] 358 9

958"

(+$

Find the next term of the following
series :

Z1A, X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

A number when divided by 5, 9, 13
leaves remainder 2, 6 and 10
respectively. The least such number is :
[1] 602 [2] 592

[3] 572 [4] 582

In a certain code language
"PARTICLE" is  written as
"USBQFMDJ" and "GENERATE"
is written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF

[2] VDPENFUQ

[3] VDPEUOFN

[4] VDPEUOSF

A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as

fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs
[2] 25 hrs
[3] 30 hrs
[4] 35 hrs
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J3-1 NN
( 2, 2) 01
[1] 14 [2] 12
[3] 13 [4] 16
45 - I'D A&- %
10 H % B - % 14
H 1%01 - H /1%t
& -01 A&- % 24
H 1%0 :-01!D 45
-016
[1] 31
[2] 33
[3] 37
[4] 39
) % H) 15% 1%
&' 01 %# #18E!
&' 0 # 18% 0O
*# H) ? +(IEJ KO1
[1] 360
[2] 540
[3] 600
[4] 640
H& -: 900001 NE:
- @A %% 1% O
- @A %% O >
; 9600 0 NE> -
01
[1] 3000
[2] 4000
[3] 5000
[4] 5600

*$

If —“/§+1and y:\/_?’—'l, then the

V3-1 J3+1

value of( 2+ ?)is:

[1] 14 [2] 12
[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
[2] 33
[3] 37
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640

The population of a town is 9000. If
the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

$3$1$



ﬁ

D, C E & O1A E
& 0- Ot,A & 01D, B
& 0- 01 3
& & 016
[1] A [2] B
8] C [4] D
45- .9 ", - % 3
% 0)x 0 LLO % :-
311 -45-01MM
X 1"% & 016
[ ! 21 3
3] &0 [4]
>I3: -% 45-1+ I
- %: %0-01 #$%
%0 ' %0-01 # )/
6

[1] #J-1J 2] #J-1+J
3] J-1+J 4] J-1J

#

F7- I 01
3,13, 22, 32,59, 69, 120, 130, ?
[1] 201 [2] 211
[3] 227 [4] 232
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1 0 6
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38115 - @AOQO -
42 - @AO0 -
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D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?

[1] A [2] B

[3] C [4] D

Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?

[1] Father [2] Brother

[3] Sister [4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W [2] N-E

[3] S-E [41S-W

The next term of the following

number series is :
3,13, 22, 32,59, 69, 120, 130, ?

[1] 201 [2] 211

[3] 227 [4] 232

The average of nine consecutive
numbers isn. If the next two

numbers are also included, the new
average is :

[1] remain the same
[2] increase by 1

[3] increase by 1.5
[4] increase by 2
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Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &
Bhindawas Wildlife Sanctuary

[2] Kalesar National Park &
Khaparwas Wildlife Sanctuary

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

Consider the following statements :

() The institution of Lokayukta was
established in Haryana in the
year 2002.

(i) Justice Pritam Pal was the first
Lokayukta in the State of
Haryana.

[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and(ii) are incorrect.

+$ Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

[4] Bhiwani

$3$1$
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+$ Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i) Shobha Sagar Pond

(iif) Bhimadevi Temple Complex
Choose theorrectcode :

[1] (i) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (i), (ii) and (iii)

+)$ Which of the following institute is

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

+$ Who among the following isnot

appointed by the Governor of
Haryana ?

[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission
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Who among the following Governors
of Haryana was a civil servant ?

[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal

[4] Babu Parmanand

Read the following statements about

‘Parivar Pehchan Patra Yojna':

() This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all
the families in Haryana.

(i) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,
death and marriage records.

(iif) The data available in family 1D
database will be utilized to

determine automatic verification

for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose theorrectcode :
[1] Only (ii) is correct.
[2] (i) and (ii) are correct.
[3] (ii) and (iii) are correct.
[4] (), (ii) and (iii) are correct.

$3$1$
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[1] 7 1%

[2] 10 1%

[3] 10 1%

[4] 12 1%

+$ Consider the following statements

regarding the Governor of Haryana :

() He is the Chancellor of Central
University of Haryana.

(i) He can hold any office of the
profit in the State.

(iif) He is the President of Indian Red
Cross Society, Haryana State
Branch.

(v)yHe does not have any
discretionary power granted
under the Constitution.

Which of the above statement(s)

is/arecorrect?

[1] (i), (i), (iii) and (iv)

[2] (i), (iii)) and (iv)

[3] Only (iii)

[4] Both (ii) and (iii)

The Lok Sabha and Rajya Sabha
seats in Haryana are :

[1] 7and4
[2] 10 and4
[3] 10 and5
[4] 12 and5




Fill in the blank with thecorrect
option :

The man ............... IS honest is
trusted.

[1] who [2] which

[3] whom [4] what

Name the author of the story, 'Lost
Spring' :

[1] A. R. Barton
[2] Adrienne Rich
[3] Louis Fischer
[4] Anees Jung

Identify the underlined vowel in the
given word :

Machne
[1] i 2] i:
[3] [4]

"Your children are not your children.
They are the sons and daught
of life's longing for itself. They come
through you but not from you."

These lines are an extract from the

chapter :

[1] My Childhood

[2] The Fun they had

[3] The Snake and the Mirror

[4] The Little Girl

Someone who is present everywhere
is :

[1] Omniscient

[2] Omnipresent
[3] Omnipotent

[4] Optimist

Change into Indirect Speech :

He said, "I bought these pearls for
my mother".

[1] He said he buy pearls for his
mother.

[2] He said will buy pearls for his
mother.

[3] He said that he will bought these
pearls for his mother.

[4] He said that he had bought these
pearls for his mother.

Which story of 'O 'Henry' has
characters 'Sue' and 'Johnsy' ?

[1] The Last Leaf

[2] The Gift of the Magi

[3] The Ransom of Red Chief
[4] The Cop and the Anthem
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Choose thecorrect passive of the
sentence :

You have insulted us today.

[1] We have been insulted by you
today.

[2] We must been insulted by you.
[3] Today we got insulted by you.
[4] Insulted by you we were today.

Fill in the blank with thecorrect
phrasal verb :

There is a mystery about his deat}
and the police are ................ it.

[1] Look out

[2] Looking into
[3] Look ahead
[4] Look after

Cars_must nobe parked in front of
the gate.

The underlined modal
shows :

auxiliary

[1] Permission
[2] Prohibition
[3] Necessity
[4] Request

exhibition closed two

L

months ago.
[1] Those [2] These
[3] All [4] That

Which of the following is a simple
sentence ?

[1] | am responsible for my actions.
[2] All that glitters is not gold.

[3] He is very ill but he goes to his
work.

[4] He put off his clothes and
plunged into the river.

What part of speech is the word
"before" ?

He came beforéhe appointed time.
[1] Preposition

[2] Adverb

[3] Noun

[4] Adjective

Antonym of the word 'Industrious’ is :
[2] Lazy
[4] Focused

[1] Persistant
[3] Dilligent
Government by the king or queen is
called :

[1] Monarchy [2] Democracy

[3] Bureaucracy [4] Anarchy

Identify the consonants in the
underlined words :

Chin, Sketch Chair
[1] [2] d
[3] t [4]



My sister does not like milk supplied

by the government ............... :
[1] Daairy [2] Deairy

[3] Dairy [4] Diary

Children_shouldbey their parents.
The underlined modal expresses :
[1] Habit [2] Request

[3] Obligation [4] Desirability
Which of the following isnot the
synonym of colossal ?

[1] Huge [2] Timid

[3] Enormous [4] Gigantic
The correct noun form of the verb
‘obey' is :

[1] Obeisance [2] Obedient

[3] Obeyed [4] Obedience

Which of the following sentences is
grammaticallyincorrect ?

[1] | hope you are enjoying good
health.

[2] | am feeling pain in my leg.

[3] | ordered to him to leave the
room.

[4] This water is good to drink.

Identify the part of speech of the
underlined word :

Still waters run deep.
[1] Adjective  [2] Noun
[3] Adverb [4] Verb

"The moan of doves in immemorial
elms

And murmuring of innumerable
bees".

Identify the figure of speech in the
above lines :

[1] Onomatopoeia
[2] Assonance

[3] Refrain

[4] Simile

Identify the underlined word :
The old man was tired of walking
[1] Participle  [2] Noun

[3] Gerund [4] Adjective

Fill in the blank with thecorrect
option :

All the passengers, with the driver
.............. killed in the accident.

[1] were [2] was
[3] is [4] had

Pick out the correct phonetic

transcription of the word 'Examine’ :
[1] g min [2] gz min

[3] igz min [4] ig amin



!
The past participle of the verb
'Forgive' is :

[1] Forgot

[2] Forgave

[3] Forgiven

[4] Forgiving

Match and complete the proverbs :

(A) To beat () of a mole-Hill

(B) To cut one" (ii)) About the bush
coat

(C) To kil (i) Two birds with

one stone

(D) To make ¢(iv) Acc. to one"
mountain cloth

[1] (A, ii), (B, iv), (C, iii), (D, i)
[2] (A, ), (B, i), (C, iii), (D, iv)
[3] (A, ii), (B, i), (C, iv), (D, ii)
[4] (A, ), (B, i), (C, iv), (D, ii)

Choose the correct phonetic
transcription of the word
'‘photograph’ :

[1] f ut gra:f
[2] f t graf
[3] f t gra:f

[4] fa:utgerafh

Fill in the blank withcorrectoption :

He .............. his friend over a
trifle.

[1] Quarrelled of
[2] Quarrelled with
[3] Quarrelled in

[4] Quarrelled over

Direction : Fill in the blanks with correct
option from(121to 124):

Distribute these sweets ..............

the children.
[1] among [2] in
[3] for [4] against

.............. these text books, | need
few reference books also.

[1] Beside

[2] Before

[3] Besides

[4] Beyond

.............. is another name for
Affluence.

[1] Penury

[2] Indigence

[3] Inadequate

[4] Richdom



She .............. all her money on

[1] spends

[2] spend

[3] was spend
[4] will spending
What was the pen name of Kamalg
Das ?

[1] Madhavikutty
[2] Surayya

[3] Kamala

[4] Bholi

The chapter 'Indigo’ is an excerpt
from the book :

[1] Mahatma Gandhi : A Life

[2] Gandhi: A Legend

[3] The Life of Mahatma Gandhi
[4] Life and Works of Gandhi

Fill in the blank with the suitable
modal :

She ............. sing well.  (Ability)
[1] will [2] shall
[3] might [4] can

Hold the horse by the ............ .
[1] Reins [2] Rain

[3] Reign [4] Raining

........... June is the hottest month.
[1] The 2] A
[3] An [4] Zero article

The expression 'The seat of White
Supremacy' means

[1] A sigh of human feelings
(goodness, pity)

[2] The centre of racial superiority
[3] A glimmer of humanity

[4] A beautiful coming together of
various people

Choose the word which isorrectly
spelt :

[1] Conncession
[2] Connecttion
[3] Confussion

[4] Conscience

"Your presence in the classroom
makes it impossible for the teacher
to teach and for the other pupils to
learn."

These words have been uttered to
whom ?

[1] Aga Sahid Al
[2] Amitav Ghosh
[3] Ranganathan Vijaya
[4] Albert Einstein
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A short account of a real incident or
person, often  humorous  or
interesting is called :

[1] A Pun
[2] Anecdote
[3] Satire
[4] Lyric

What does the phrase, 'To stand on

one's feet imply' ?

[1] To stand erect

[2] To be successful

[3] To be independent

[4] To be tall and lean

Which of the following isnot the
meaning of the word 'incessant’ ?
[1] continuous

[2] unceasing

[3] ending

[4] unremitting

You ........... study for your Board
Exams. (Necessity

[4] shall

"And who art thou ? Said | to the
soft-falling shower,

Which, strange to tell, gave me an
answer, as here translated"

These lines have been taken from the
poem :

[1] The Laburnum Top
[2] The Voice of the Rain
[3] Fatherto Son

[4] Childhood

The author of the story, 'Footprints
without Feet' is :

[1] Sinclair Lewis
[2] Robert Arthur
[3] Ruskin Bond
[4] H. G. Wells

Which of the following igmis-spelt?
[1] Psychology

[2] Colourful

[3] Audaciouss

[4] Thermometer

Name the author of the story, 'The
Ghat of the only World' :

[1] Amitav Ghosh
[2] Patrick Pringle
[3] J. B. Priestly
[4] Vikram Seth



Direction : Read the poem and answer the

guestions given beloWl141to 149 :

A thing of beauty is a joy forever

It's loveliness increases, it will never
Pass into nothingness; but will keep
A bower quiet for us, and a sleep

Full of sweet dreams, and health, and quig
breathing.

Therefore, on every morrow, are Wwe
wreathing

A flowery band to bind us to the earth,
Spite of despondence of the inhuman deart
Of noble natures, of the gloomy days,
Of all the unhealthy and o'er darkened ways

Made for our searching : yes, in spite of
all.

Some shape of beauty moves away the pall.

From our dark spirits, such the sun, thg
moon

Trees old and young, sprouting a shad
boon

For simple sheep, and such are daffodils

With the green world they live in; and clear
rills

That for themselves a cooling covert make

Gaints the hot season : the mid forest brak
Rich with a sprinkling of fair musk-rose

v

—

[9%)

blooms;

And such too is the grandeur of the dooms
We have imagined for the mighty dead;

All lovely tales that we have heard or read;
An endless fountain of immortal drink,

Pouring unto us from the heaven's brink.

According to the poet, 'A thing of
beauty' is :

[1] Sad
[2] Joy forever
[3] Melancholic

[4] Depressing

The word, 'Grandeur' in line 20

means :
[1] Magnificence
[2] Lovely
[3] Stories

[4] Hopelessness

The central theme of the poem is :

[1] Beautiful things are a source of

constant joy and inspiration.
[2] Beautiful things are useless.
[3] A thing of beauty is time
consuming.

[4] Beautiful things fade away.



Trees _old and _young sprouting a
shady boon.

Identity the figure of speech in the
above line, with special reference ta
words underlined :

[1] Alliteration
[2] Antithesis
[3] Metaphor
[4] Rhyme

A pleasant shady place under trees (
climbing plants is called :

[1] Wreathing
[2] Despondence
[3] Bower

[4] Fountain

What does the line, 'Grandeur of the
dooms, we have imagined for the
mighty dead' mean ?

[1] The gaints who died in the war.

[2] The Martyrs who sacrificed their
lives for the good cause.

[3] The Dooms which are dead.

[4] The powerful people who

constructed the dooms and got

killed.

The phrases, 'Noble Natures',
'Cooling Covert', 'Band to Bind'
depicts which poetic device ?

[1] Metaphor

[2] Alliteration

[3] Symbol

[4] Transferred epithet

Every Morning, we all are :

[1] Preparing tea and breakfast

[2] Watching the sun rise

[3] Connecting ourselves to Nature
[4] Getting ready for work

The poem is written in :
[1] lambic pentameter
[2] Heroic couplet

[3] lambic tetrameter
[4] Blank Verse

Match the words with their meanings :

(A) Slaving (i) Complete confusion

& disorder

(B) Accomplish (ii) Strange, difficult tc
explain

(C) Uncanny (iii) Working hard
(D) Chaos (iv) Finish successfully
[1] (A, iii), (B, iv), (C,ii), (D, i)
[2] (A, 1), (B, ii), (C,iii), (D, iv)
[3] (A, i), (B, iv), (C, i), (D, iii)
[4] (A, iv), (B, iii), (C, ii), (D, i)
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